325

# Performance Analysis of an M/M/1 Queue with Close Down Periods, Server under Maintenance Subject to Catastrophe 

B.Thilaka ${ }^{1, *}$, B.Poorani ${ }^{2}$ and S.Udayabaskaran ${ }^{3}$<br>${ }^{1}$ Department of Applied Mathematics, Sri Venkateswra College of Engineering, Kancheepuram, India<br>${ }^{2}$ Department of Mathematics, KCG college of Technology, Karapakkam, India<br>${ }^{3}$ Department of Mathematics, Vel tech Rangarajan Dr.Sagunthala R\&D Institute of science and Technology, Avadi, India

Received: 2 Mar. 2019, Revised: 2 May 2019, Accepted: 11 May 2019
Published online: 1 Aug. 2019


#### Abstract

Mathematical analysis of Queueing systems shows a significant part in wireless communication network such as channel control, energy saving schemes etc. Here, we consider a M/M/1 Queue with the server operating in three modes -Active mode, maintenance mode, sleep mode/close down period (with transitions from the maintenance mode to the sleep mode/close down period and active mode), subject to catastrophes. Catastrophes occur only when there are customers in the system and they wipe out the entire system resulting in the system being rendered inactive for a random period of time. Explicit expressions have been obtained for the transient probabilities and steady state probabilities of the close down period, maintenance state and system size along with the many performance measures. Influence of the different parameters on the steady state probabilities, system performance measures are studied using numerical examples.


Keywords: Catastrophe, close down state, maintenance state, transient probabilities, steady state probabilities

## 1 Introduction

The development of queueing theory has its origin in the study of congestion of telephone systems. Over the years, the study of queueing systems has grown tremendously, primarily due to the fact that queueing systems have enormous applications in wireless networks, telecommunication networks etc. A comprehensive over view of the fundamental techniques and standard results in queueing theory are given in the monographs of [1], [2], [3], [4], [5], [6], and [7].Wireless communications is one of the fastest growing segments of the communication industry. The rapid growth of wireless systems in areas such as Wireless sensor networks, automated factories, remote telemedicine etc. promise a bright future for wireless networks. WiMAX evolved to satisfy the requirement of having a wireless internet access and other broadband services which work well in those areas where it is difficult to provide wired infrastructure and economically not viable.
The IEEE 802.16 standard allows for subscriber stations
to move around. On account of the movement of subscriber stations, the idea of power saving is a very substantial issue for the battery powered mobile stations [MSs]. The IEEE 802.16 e standard outlines sleep mode and idle mode operations on MAC layer to save the energy of the MSs. The idea behind the power saving mechanism is to employ sleep mode operation to minimize MS power usage due to minimum power consumption in sleep mode.
Various researchers have proposed different analytical models and acquired the performance of the close down period operations in the IEEE 802.16e system. See [8], [9], [10], [11], [12], [13], [14], [15],[16], [17], [18]. [19], [20], [21], [22], [15]. Several models analysed related to this area in [22]. In [23], analyzed the transient behaviour of a $M / M / 1$ queue with the server operating in three modes- Active mode, maintenance mode, sleep mode. Transient analysis of $\mathrm{M} / \mathrm{M} / 1$ queue with the server operating in three modes- Active mode, maintenance mode analyzed in [24] , sleep mode wherein at the the end of the maintenance period, a server either enters into

[^0]active mode or it goes to sleep mode.
An important aspect in the dynamics of communication networks is the study of dramatic but relatively rare events which result in abrupt and often catastrophic changes in the network state. Such catastrophic events are commonly regarded to as phase transition. [25] gives an extensive survey of research phase transition in communication networks. When a catastrophe occurs, it invariably paralyzes/ destroys the systems and the system needs to start fresh. See [26], [27], [28]. Events that cause site failure, which propagate through a network in [29], [30], [31], [32], [33], [34], [35], [36], [37]. The Performance analysis measures for $\mathrm{M} / \mathrm{M} / 1$ queue with the server operating in three modes- Active mode, maintenance mode, sleep mode subject to Catostrophe derived by [38].
This has motivated us to study and analyze the behavior of a $M / M / 1$ queue where the server operates in three modes-active mode, maintenance mode , sleep mode/close down period, with transitions from the maintenance mode to the sleep mode/close down period and active mode, subject to catastrophes. The organization of the paper is as follows: Section 2 describes the mathematical model and closed-form expressions for the transient probabilities of the system are derived through the approach of integral equations; Section 3 provides an expression for the total power saved up to any time $t$. Steady state probabilities of the system are derived in section 4 . Some fundamental performance measures under steady state conditions are deduced in section 5 . Numerical examples are explained to illustrate The effect of system parameters on the various performance measures are illustrated by numerical examples in section 6 . Section 7, concludes the paper.

## 2 Model description and Analysis

Consider a M/M/1 queue with infinite capacity. The arrivals follow a Poisson process with arrival rate $\lambda$ while the service times are exponentially distributed with mean $\frac{1}{\mu}$.The system enters the close down state (sleep state) D when the server completes the services of all customers in the system. The close down period is assumed to follow an exponential distribution with mean $\frac{1}{\xi}$. If a new customer arrives into the system during the close down period, the close down period is interrupted and the server resumes service. If no customer arrives into the system for the entire duration of the close down period, then the system enters the preventive maintenance state M . The server remains in the maintenance mode for a random time is exponentially distributed with mean $\frac{1}{\eta}$. Any customer arriving to the system during the preventive maintenance state will not be permitted to enter the system and will be lost ever. Once the maintenance of the server is completed, the server returns to the sleep mode
with probability $(1-p)$ and enters its functioning state (active state) with probability $p$ ready to serve new customers. Customers arrive into the system as a Poisson process with arrival rate $\lambda$, during the working state, which comprises the active period (idle and busy) and close down period. Catastrophes are assumed to arrive as a Poisson process with rate $\gamma$. Once a catastrophe strikes the system, all the customers are wiped out from the system and the system enters the maintenance state.
We adopt the following notations: $X(t)$ - number of customers in the system at time t when the server is in active state
$J(t)$ - the state of the server at time $t$.
Then $X(t) \in\{0,1,2 \ldots\}$ and $J(t)=\mathrm{A}$ if the server is in active state, D if the server is in sleep state, M if the server is in maintenance state
The process $X(t), J(t), t \geq 0$ is Markovian. The state space of the system is
$\Omega=\{(0, D),(0, M)\} \cup\{(0, A),(1, A),(2, A), \ldots\}$
For brevity, the states $(0, D)$ and $(0, M)$ are denoted by D and M respectively; and the states $(n, A), n=0,1,2, \ldots$ are simply denoted by $0,1,2, \ldots$

The state transition diagram is as follows,


Fig. 1 Transition Diagram

Let $p(n, t)=p[X(t)=n], n=0,1,2 \ldots$ be the probability that, n customers in the system at time t when the server is in active state, $p(M, t)=p[X(t)=M]$ be the probability that the server is in maintenance state (and that no customer arrives to the state) at time $t$, and $p(D, t)=p[X(t)=D]$ be the probability that the server is in sleep mode at time $t$.

Using Probability laws, we derive the following integral equations,

$$
\begin{align*}
p(M, t)= & \int_{0}^{t} p(D, u) \xi e^{-\eta(t-u)} d u+ \\
& \sum_{n=1}^{\infty} \int_{0}^{t} p(n, u) \gamma e^{-\eta(t-u)} d u \tag{1}
\end{align*}
$$

$$
\begin{align*}
& p(D, t)=\int_{0}^{t} p(1, u) \mu e^{-(\lambda+\xi)(t-u)} d u \\
& +\int_{0}^{t} p(M, u) \eta(1-p) e^{-(\lambda+\xi)(t-u)} d u  \tag{2}\\
& p(0, t)=e^{-\lambda t}+\int_{0}^{t} p(M, u) \eta p e^{-\eta(t-u)} d u  \tag{3}\\
& \quad \begin{array}{l}
p(1, t)=\int_{0}^{t} p(D, u) \lambda e^{-(\lambda+\mu+\gamma)(t-u)} d u \\
\quad+\int_{0}^{t} p(0, u) \lambda e^{-(\lambda+\mu+\gamma)(t-u)} d u \\
\quad+\int_{0}^{t} p(2, u) \mu e^{-(\lambda+\mu+\gamma)(t-u)} d u \\
p(n, t)=\int_{0}^{t} p(n-1, u) \lambda e^{-(\lambda+\mu+\gamma)(t-u)} d u \\
\quad+\int_{0}^{t} p(n+1, u) \mu e^{-(\lambda+\mu+\gamma)(t-u)} d u
\end{array}
\end{align*}
$$

Taking Laplace Transform of (1) to (5),

$$
\begin{align*}
& p^{*}(M, s)=\frac{\xi}{s+\eta} p^{*}(D, s)+\sum_{n=1}^{\infty} \frac{\gamma}{s+\eta} p^{*}(n, s)  \tag{6}\\
& p^{*}(D, s)=\frac{\mu}{s+\lambda+\xi} p^{*}(1, s)+\frac{\eta(1-p)}{s+\lambda+\xi} p^{*}(M, s)  \tag{7}\\
& p^{*}(0, s)=\frac{1}{s+\lambda}+\frac{\eta p}{s+\lambda} p^{*}(M, s)  \tag{8}\\
& p^{*}(1, s)=\frac{\lambda}{s+\lambda+\mu+\gamma}\left[p^{*}(D, s)+p^{*}(0, s)\right] \\
& \quad+\frac{\mu}{s+\lambda+\mu+\gamma} p^{*}(2, s)  \tag{9}\\
& p^{*}(n, s)=\frac{\lambda}{s+\lambda+\mu+\gamma} p^{*}(n-1, s) \\
& \quad+\frac{\mu}{s+\lambda+\mu+\gamma} p^{*}(n+1, s), n \geq 2 \tag{10}
\end{align*}
$$

Laplace Transform of the generating function,
$G^{*}(u, s)=p^{*}(D, s)+p^{*}(M, s)+\sum_{n=0}^{\infty} p^{*}(n, s) u^{n}$
From Equations (6) to (10),

$$
\begin{array}{r}
G^{*}(u, s)=p^{*}(D, s)+p^{*}(M, s)+p^{*}(0, s) \\
+\frac{\lambda u^{2}\left[p^{*}(D, s)+P^{*}(0, s)\right]-\mu u p^{*}(1, s)}{-\lambda u^{2}+(s+\lambda+\mu+\gamma) u-\mu} \tag{12}
\end{array}
$$

The zeros of $\lambda u^{2}+(s+\lambda+\mu+\gamma) u-\mu=0$ are

$$
\begin{gathered}
\theta_{1}=\frac{(s+\lambda+\mu+\gamma)-\sqrt{(s+\lambda+\mu+\gamma)^{2}-4 \lambda \mu}}{2 \lambda} \text { and } \\
\theta_{2}=\frac{(s+\lambda+\mu+\gamma)+\sqrt{(s+\lambda+\mu+\gamma)^{2}-4 \lambda \mu}}{2 \lambda}
\end{gathered}
$$

Comparing Equations (11) and (14),

$$
\begin{equation*}
p^{*}(n, s)=\left(\frac{\lambda \theta_{1}}{\mu}\right)^{n-1} p^{*}(1, s) ; n=2,3, \ldots \tag{15}
\end{equation*}
$$

Using Equations (15) in (9),
$p^{*}(1, s)=\frac{\lambda \theta_{1}}{\mu}\left[p^{*}(D, s)+p^{*}(0, s)\right]$

$$
p^{*}(1, s)=\frac{(s+\lambda+\mu+\gamma)-\sqrt{(s+\lambda+\mu+\gamma)^{2}-4 \lambda \mu}}{2 \mu}
$$

Inverting equation (16),

$$
\begin{array}{r}
p(1, t)=\beta e^{\{-(\lambda+\mu+\gamma) t\}} I_{1} \frac{(2 \sqrt{\lambda \mu} t)}{t} \mathbb{C} \\
{[p(D, t)+p(0, t)]} \tag{17}
\end{array}
$$

where $\beta=\sqrt{\frac{\lambda}{\mu}}$ and ©Cenotes convolution and $I_{n}($.$) is the modified Bessel Function of order n$ defined in [39],
where we have used the formula in [40].
$L^{-1}\left[\left(\frac{(s+\lambda+\mu+\gamma)-\sqrt{(s+\lambda+\mu+\gamma)^{2}-4 \lambda \mu}}{2 \lambda}\right)^{n}\right]$
$\left(\frac{\lambda}{\mu}\right)^{\frac{n}{2}} \frac{I_{n}(2 t \sqrt{\lambda \mu})}{t}$
Rewriting equations (7), (6) and (8) we have

$$
\begin{array}{r}
p^{*}(D, s)=\frac{\mu(s+\eta)+\eta(1-p) \gamma\left(1-\frac{\lambda \theta_{1}}{\mu}\right)^{-1}}{(s+\lambda+\xi)(s+\eta)-\eta(1-p) \xi} \\
p^{*}(1, s) \tag{18}
\end{array}
$$

$$
\begin{gather*}
p^{*}(M, s)=\frac{\xi}{s+\eta}\left[\frac{\mu(s+\eta)+\eta(1-p) \gamma\left(1-\frac{\lambda \theta_{1}}{\mu}\right)^{-1}}{(s+\lambda+\xi)(s+\eta)-\eta(1-p) \xi}\right] \\
p^{*}(1, s)+\frac{\gamma}{s+\eta}\left(1-\frac{\lambda \theta_{1}}{\mu}\right)^{-1} p^{*}(1, s)  \tag{19}\\
p^{*}(0, s)=\frac{\eta p}{s+\lambda}\left\{\frac{\xi}{s+\eta}\right. \\
{\left[\frac{\mu(s+\eta)+\eta(1-p) \gamma\left(1-\frac{\lambda \theta_{1}}{\mu}\right)^{-1}}{(s+\lambda+\xi)(s+\eta)-\eta(1-p) \xi}\right]} \\
\left.p^{*}(1, s)+\frac{\gamma}{s+\eta}\left(1-\frac{\lambda \theta_{1}}{\mu}\right)^{-1} p^{*}(1, s)\right\} \\
+\frac{1}{s+\lambda} \tag{20}
\end{gather*}
$$

By sustituting (18) and (20) in (16) we get,
$p^{*}(1, s)=\frac{1}{s+\lambda}\left(\frac{\lambda \theta_{1}}{\mu}\right) \sum_{n=0}^{\infty}\left(H^{*}(s)\right)^{n}$
$p^{*}(1, s)=\frac{1}{s+\lambda}\left(\frac{\lambda \theta_{1}}{\mu}\right) \frac{1}{1-H^{*}(s)}$
where
$H^{*}(s)=\frac{\lambda \theta_{1}}{\mu}\left[H_{1}(s)+H_{2}(s)+H_{3}(s)\right]$
where

$$
\begin{array}{r}
H_{1}(s)=\frac{\mu(s+\eta)-\eta(1-p) \gamma \sum_{n=0}^{\infty}\left(\frac{\lambda \theta_{1}}{\mu}\right)^{n}}{(s+\lambda+\xi)(s+\eta)-\eta(1-p) \xi} \\
H_{2}(s)=\frac{\eta p \xi}{(s+\lambda)(s+\eta)} \\
\left(\frac{\mu(s+\eta)-\eta(1-p) \gamma \sum_{n=0}^{\infty}\left(\frac{\lambda \theta_{1}}{\mu}\right)^{n}}{(s+\lambda+\xi)(s+\eta)-\eta(1-p) \xi}\right) \\
H_{3}(s)=\frac{\eta p \gamma}{(s+\lambda)(s+\eta)} \sum_{n=0}^{\infty}\left(\frac{\lambda \theta_{1}}{\mu}\right)^{n}
\end{array}
$$

We have the inverse Laplace transform,

$$
L^{-1}\left(\theta_{1}\right)=e^{-(\lambda+\mu+\gamma) t}\left(\frac{\mu}{\lambda}\right)^{1 / 2} \frac{I_{1}(2 \sqrt{\lambda \mu} t)}{t}
$$

$L^{-1}\left(\theta_{1}^{n}\right)=e^{-(\lambda+\mu+\gamma) t}\left(\frac{\mu}{\lambda}\right)^{n / 2} \frac{n I_{n}(2 \sqrt{\lambda \mu} t)}{t}$
By using the notation
$\Phi_{1 ; n}(t)=L^{-1}\left(\theta_{1}^{n}\right)$

By inverting (22), we get

$$
\begin{equation*}
H(t)=\frac{\lambda}{\mu} \Phi_{1 ; 1}(t) \subset\left[H_{1}(t)+H_{2}(t)+H_{3}(t)\right] \tag{23}
\end{equation*}
$$

where

$$
H_{3}(t)=\eta p \gamma e^{-\lambda t}(C) e^{-\eta t} \Subset \sum_{n=0}^{\infty}\left(\frac{\lambda}{\mu}\right)^{n} \Phi_{1 ; n+1}(t)
$$

Inverse Laplace Transform of (21),
$p(1, t)=e^{-\lambda t} \subsetneq \Phi_{1 ; 1}(t) \subset \sum_{n=0}^{\infty}\left(H^{\complement(n)}(t)\right)^{n}$
where $H^{©(n)}$ is the n -fold convolution of $H(t)$. Taking Inverse Laplace transform of (18), we get

$$
\begin{gather*}
p(D, t)=\mu\left[e^{-(\lambda+\xi) t}+\sum_{l=1}^{\infty} \frac{\eta^{l}(l-p)^{l} \xi^{l}}{l!(l-1)!}\right. \\
e^{-(\lambda+\xi) t} t^{l}\left(e^{-\eta t} t^{l-1}+\frac{\gamma}{\mu} \subseteq\left\{\sum_{l=0}^{\infty} \sum_{n=0}^{\infty}\right.\right. \\
\frac{\eta^{l+1}(1-p)^{l+1} \xi^{l}}{l!l!} e^{-(\lambda+\xi) t} t^{l}\left(e^{-\eta t} t^{l} \mathbb{C}\right. \\
\left.\left.\left(\frac{\lambda}{\mu}\right)^{n}\left(\frac{\mu}{\lambda}\right)^{n} \Phi_{1 ; n}(t)\right\}\right] \text { © } p(1, t) \tag{25}
\end{gather*}
$$

Taking Inverse Laplace transform of (19), we get

$$
\begin{array}{r}
p(M, t)=\xi \mu\left[e^{-(\lambda+\xi) t} \Subset e^{\eta t}+\sum_{l=1}^{\infty}\right. \\
\frac{\eta^{l}(l-p) \xi^{l}}{l!(l-1)!} e^{-(\lambda+\xi) t} t^{l}\left(e^{-\eta t} t^{l-1}\right. \\
+\frac{\gamma}{\mu} \Subset\left\{\sum_{l=0}^{\infty} \sum_{n=0}^{\infty} \frac{\eta^{l+1}(1-p)^{l+1} \xi^{l}}{l!l!} e^{-(\lambda+\xi) t} t^{l}\right. \\
\text { (C) } \left.\left.e^{-\eta t} t^{l} \subset\left(\frac{\lambda}{\mu}\right)^{n} \Phi_{1 ; n}(t)\right\}\right] \text { © } p(1, t) \tag{26}
\end{array}
$$

$$
\begin{aligned}
& H_{1}(t)=\mu \sum_{l=1}^{\infty} \frac{\eta^{l}(l-p)^{l} \xi^{l}}{l!(l-1)!} e^{-(\lambda+\xi) t} t^{l} \Subset e^{-\eta t} t^{l-1}+ \\
& \sum_{l=1}^{\infty} \sum_{n=0}^{\infty} \frac{\eta^{l+1}(l-p)^{l+1} \xi^{l}}{l!l!} e^{-(\lambda+\xi) t} t^{l} \\
& \text { © } e^{-\eta t} t^{l} \text { © }\left(\frac{\lambda}{\mu}\right)^{n} \Phi_{1 ; n}(t) ; \\
& H_{2}(t)=\eta p \xi e^{-\lambda t} \subset\left[\mu \sum_{m=0}^{\infty} \frac{\eta^{m}(1-p)^{m} \xi^{m}}{m!m!}\right. \\
& e^{-(\lambda+\xi) t} t^{m} \subset\left(e^{-\eta t} t^{m}+\sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{\gamma \eta^{m+1}(1-p)^{m+1} \xi^{m}}{m!(m+1)!}\right. \\
& \left.e^{-(\lambda+\xi) t} t^{m} \subset e^{-\eta t} t^{m+1} \subseteq\left(\frac{\lambda}{\mu}\right)^{n} \Phi_{1 ; n}(t)\right] ;
\end{aligned}
$$

Taking Inverse Laplace transform of (20), we get

$$
\begin{array}{r}
p(0, t)=e^{-\lambda t}+\xi \mu\left[e^{-(\lambda+\xi) t} \mathrm{C} e^{\eta t}+\sum_{l=1}^{\infty}\right. \\
\frac{\eta^{l}(l-p)^{l} \xi^{l}}{l!(l-1)!} e^{-(\lambda+\xi) t} t^{l}\left(e^{-\eta t} t^{l-1}+\frac{\gamma}{\mu}\right. \\
\text { © }\left\{\sum _ { l = 0 } ^ { \infty } \sum _ { n = 0 } ^ { \infty } \frac { \eta ^ { l + 1 } ( 1 - p ) ^ { l + 1 } \xi ^ { l } } { l ! l ! } e ^ { - ( \lambda + \xi ) t } t ^ { l } \left(\mathrm{C} e^{-\eta t} t^{l}\right.\right. \\
\text { C } \left.\left.\left(\frac{\lambda}{\mu}\right)^{n} \Phi_{1 ; n}(t)\right\}\right] \text { © } p(1, t) \tag{27}
\end{array}
$$

Taking Inverse Laplace transform of (15), we get

$$
\begin{equation*}
p(n, t)=\Phi_{1 ; n-1}(t) \Subset p(1, t), n=2,3, \ldots \tag{28}
\end{equation*}
$$

## 3 TOTAL POWER SAVED UP TO TIME $t$

Power is saved by switching the server to sleep or maintenance mode.During the sleep or maintenance modes, less power is consumed. The rate of power saving in these modes are different. We calculate them separetely.

## Mean time spent in sleep in the interval $[0, t]$ :

Let $\mathrm{Y}(\mathrm{t})$ be the total sleep in $[0, \mathrm{t}]$. Using $\mathrm{J}(\mathrm{t})$, we obtain the stochastic integral representation of $Y(t)$ as follows:
$Y(t)=\int_{0}^{t} \delta_{J(u), D} d u$,
where $\delta_{j, k}$ is the kronecker delta function defined by,

$$
\delta_{j, k}=\left\{\begin{array}{l}
1 \text { if } j=k \\
0 \text { otherwise }
\end{array}\right.
$$

We obtain,
$E(Y(t))=\int_{0}^{t} E\left(\delta_{J(u), D}\right) d u=\int_{0}^{t} P\{J(u)=D\} d u$
Taking laplace transform on both sides of equation(30) and using equations (18) and (20), we get

$$
\begin{array}{r}
y^{*}(s)=\left(\frac{1}{s}\right)\left[\frac{\mu(s+\eta)+\eta(1-p) \gamma \sum_{n=0}^{\infty}\left(\frac{\lambda \theta_{1}}{\mu}\right)^{n}}{(s+\lambda+\xi)(s+\eta)-\eta(1-p) \xi}\right. \\
\left.\left\{\frac{\lambda \theta_{1}}{(s+\lambda) \mu} \sum_{n=0}^{\infty}\left(H^{*}(s)\right)^{n}\right\}\right] \\
y^{*}(s)=\frac{\lambda \theta_{1}}{s(s+\lambda)}\left\{\sum_{l=0}^{\infty} \sum_{n=0}^{\infty} \frac{\eta^{l}(1-p)^{l} \xi^{l}}{(s+\lambda+\xi)^{l+1}(s+\eta)^{l}}\right. \\
\left(H^{*}(s)\right)^{n}+\sum_{l=0}^{\infty} \sum_{k=0}^{\infty} \sum_{n=0}^{\infty} \frac{\eta^{l+1}(1-p)^{l+1} \xi^{l} \gamma}{\mu(s+\lambda+\xi)^{l+1}(s+\eta)^{l}} \\
\left.\left(\frac{\lambda \theta_{1}}{\mu}\right)^{k}\left(H^{*}(s)\right)^{n}\right\} \tag{31}
\end{array}
$$

where $y^{*}(s)=L(E(Y(t)))$,
Inverting $y *(s)$, we get

$$
\begin{align*}
& E(Y(t))=\lambda \sum_{l=0}^{\infty} \sum_{n=0}^{\infty} \eta^{l}(1-p)^{l} \xi^{l}(C) e^{-\lambda t}(C) \Phi_{1 ; 1}(t) \\
& \text { © } e^{-\eta t} \frac{t^{l-1}}{(l-1)!}\left(e^{-(\lambda+\xi) t} \frac{t^{l}}{l!} \text { © } H^{\text {© }(n)} t+\right. \\
& \lambda \gamma \sum_{l=0}^{\infty} \sum_{n=0}^{\infty} \sum_{k=0}^{\infty} \eta^{l+1}(1-p)^{l+1} \xi^{l} \text { © } e^{\lambda} t(\subset) \Phi_{1 ; 1}(t) \\
& \text { (C) } e^{-\eta t} \frac{t^{l}}{l!}\left(\mathrm{C} e^{-(\lambda+\xi) t} \frac{t^{l}}{l!}\right. \text { © } \\
& \left(\frac{\lambda}{\mu}\right) \Phi_{1 ; 1}(t) \Subset H^{(C(n)} t \tag{32}
\end{align*}
$$

## Mean time spent in Maintenance mode in the interval $[0, t]$ :

Let $\mathrm{Z}(\mathrm{t})$ be the total maintenance time of the server in [ $0, \mathrm{t}]$.

$$
\begin{equation*}
Z(t)=\int_{0}^{t} \delta_{J(u), M} d u \tag{33}
\end{equation*}
$$

$$
\begin{equation*}
E(Z(t))=\int_{0}^{t} E\left(\delta_{J(u), M}\right) d u=\int_{0}^{t} P\{J(u)=M\} d u \tag{34}
\end{equation*}
$$

Taking laplace transform on both sides of equation(34) and using equations (19) and (20), we get $z^{*}(s)$

$$
\text { where } z^{*}(s)=L(E(Z(t))) \text {, }
$$

Inverting $z *(s)$, we get

$$
\begin{align*}
& E(Z(t))=\sqrt{\lambda \mu} \sum_{l=0}^{\infty} \sum_{n=0}^{\infty} \eta^{l}(1-p)^{l} \xi^{l+1} \text { © } e^{-\lambda t} \text { © } \\
& \Phi_{1 ; 1}(t) \subsetneq e^{-\eta t} \frac{t^{l}}{l!}\left(e ^ { - ( \lambda + \xi ) t } \frac { t ^ { l } } { l ! } \left(H^{\complement(n)} t\right.\right. \\
& +\sqrt{\frac{\lambda}{\mu}} \gamma \sum_{l=0}^{\infty} \sum_{n=0}^{\infty} \sum_{k=0}^{\infty} \eta^{l+1}(1-p)^{l+1} \xi^{l+1}(C) e^{\lambda} t \text { © } \\
& \Phi_{1 ; 1}(t)(C) e^{-\eta t} \frac{t^{l+1}}{l+1!}(C) e^{-(\lambda+\xi) t} \frac{t^{l}}{l!} \\
& \text { © }\left(\frac{\lambda}{\mu}\right) \Phi_{1 ; k}(t) \text { © } H^{\text {©(n) } t} \\
& \frac{\gamma}{\mu} \sqrt{\lambda \mu} \sum_{k=0}^{\infty} \sum_{n=0}^{\infty} e^{-\lambda t}(\subset) \Phi_{1 ; 1}(t) e^{-\eta t} \\
& \text { © }\left(\frac{\lambda}{\mu}\right) \Phi_{1 ; k}(t) \text { © } H^{(C(n)} t \tag{35}
\end{align*}
$$

## 4 STEADY STATE DISTRIBUTION

We define the steady state probabilities of the queueing system by the equations:

$$
\begin{gathered}
p(D)=\lim _{t \rightarrow \infty} p(D, t) \\
p(M)=\lim _{t \rightarrow \infty} p(M, t) \\
p(n)=\lim _{t \rightarrow \infty} p(n, t), n=0,1,2 \ldots
\end{gathered}
$$

Then, by using the final value theorem for Laplace transform, we get

$$
\begin{gather*}
p(D)=\lim _{s \rightarrow 0} s p^{*}(D, s)  \tag{36}\\
p(M)=\lim _{s \rightarrow 0} s p^{*}(M, s)  \tag{37}\\
p(n)=\lim _{s \rightarrow 0} s p^{*}(n, s), n=0,1,2 \ldots  \tag{38}\\
p(D)=\lim _{s \rightarrow 0} s\left\{\frac{\mu(s+\eta)+\eta(1-p) \gamma\left(1-\frac{\lambda \theta_{1}}{\mu}\right)^{-1}}{(s+\lambda+\xi)(s+\eta)-\eta(1-p) \xi}\right\} p^{*}(1, s) \\
p(D)=\frac{\mu \eta+\frac{\eta(1-p) \gamma}{1-\rho}}{(\lambda+\xi) \eta-\eta(1-p) \xi} p_{1} \\
p(D)=\frac{\mu+\frac{(1-p) \gamma}{1-\rho}}{\lambda+p \xi} p_{1}  \tag{39}\\
p(M)=\left[\frac{\xi}{\eta}\left(\frac{\mu+\frac{(1-p) \gamma}{1-\rho}}{\lambda+p \xi}\right)+\frac{\gamma}{\eta(1-\rho)}\right] p_{1}  \tag{40}\\
p(0)=\frac{\eta p}{\lambda}\left[\frac{\xi}{\eta}\left(\frac{\mu+\frac{(1-p) \gamma}{1-\rho}}{\lambda+p \xi}\right)+\frac{\gamma}{\eta(1-\rho)}\right] p_{1} \tag{41}
\end{gather*}
$$

$$
\begin{equation*}
p(n)=\rho^{n-1} p_{1} \tag{42}
\end{equation*}
$$

By total probability

$$
\begin{align*}
& p(D)+p(M)+p(0)+\sum_{n=1}^{\infty} p(n)=1 \\
& p(1)=\frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)\left[\left(1+\frac{(1-p) \gamma}{(1-\rho) \mu}\right)\right.  \tag{43}\\
& \left.\left(\frac{1}{\eta}+\frac{1}{\xi}+\frac{p}{\lambda}\right)+\frac{\frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)}{1-\rho}\left(1+\frac{\gamma}{\eta}+\frac{\gamma p}{\lambda}\right)\right]^{-1}
\end{align*}
$$

$$
p(M) \text { may be written as }
$$

$$
p(M)=\left[\frac{\mu}{\lambda+p \xi} \frac{\xi}{\eta}\left(1+\frac{(1-p) \gamma}{(1-\rho) \mu}\right)+\frac{\gamma}{\eta} \frac{1}{1-\rho}\right]
$$

$$
\left[\frac{\mu}{\lambda+p \xi}\left(1+\frac{(1-p) \gamma}{(1-\rho) \mu}\right)\left(1+\frac{\xi}{\eta}+\frac{p \xi}{\lambda}\right)\right.
$$

$$
\left.+\frac{1}{1-\rho}\left(1+\frac{\gamma}{\eta}+\frac{p \gamma}{\lambda}\right)\right]^{-1}
$$

$$
=\frac{1}{\eta}\left[\left(1+\frac{(1-p) \gamma}{(1-\rho) \mu}\right)+\frac{\gamma}{\eta} \frac{1}{1-\rho}\left(\frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)\right)\right]
$$

$$
\left[\left(1+\frac{(1-p) \gamma}{(1-\rho) \mu}\right)\left(\frac{1}{\eta}+\frac{1}{\xi}+\frac{p}{\lambda}\right)+\right.
$$

$$
\begin{equation*}
\left.\frac{\frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)}{1-\rho}\left(1+\frac{\gamma}{\eta}+\frac{\gamma p}{\lambda}\right)\right]^{-1} \tag{44}
\end{equation*}
$$

$p(0)$ may be written as

$$
\begin{array}{r}
p(0)=\left[\frac{\mu}{\lambda+p \xi} \frac{p \xi}{\lambda}\left(1+\frac{(1-p) \gamma}{(1-\rho) \mu}\right)+\frac{p \gamma}{\lambda} \frac{1}{1-\rho}\right] \\
{\left[\frac{\mu}{\lambda+p \xi}\left(1+\frac{(1-p) \gamma}{(1-\rho) \mu}\right)\left(1+\frac{\xi}{\eta}+\frac{p \xi}{\lambda}\right)+\right.} \\
=\left[\frac{1}{1-\rho}\left(1+\frac{\gamma}{\eta}+\frac{p \gamma}{\lambda}\right)\right]^{-1} \\
{\left[\left(1+\frac{(1-p) \gamma}{(1-\rho) \mu}\right)+\frac{\gamma}{\mu} \frac{p}{1-\rho}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)\right]} \\
{\left[\left(1+\frac{(1-p) \gamma}{(1-\rho) \mu}\right)\left(\frac{1}{\eta}+\frac{1}{\xi}+\frac{p}{\lambda}\right)+\right.} \\
\left.\frac{\frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)}{1-\rho}\left(1+\frac{\gamma}{\eta}+\frac{\gamma p}{\lambda}\right)\right]^{-1} \tag{45}
\end{array}
$$

$p(D)$ may be written as

$$
\begin{gather*}
p(D)=\frac{1}{\xi}\left(1+\frac{(1-p) \gamma}{(1-\rho) \mu}\right)\left[\left(1+\frac{(1-p) \gamma}{(1-\rho) \mu}\right)\right. \\
\left.\left(\frac{1}{\eta}+\frac{1}{\xi}+\frac{p}{\lambda}\right)+\frac{\frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)}{1-\rho}\left(1+\frac{\gamma}{\eta}+\frac{\gamma p}{\lambda}\right)\right]^{-1} \tag{46}
\end{gather*}
$$

$p(n)$ may be written as

$$
\begin{array}{r}
p(n)=\rho^{n-1} \frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)\left[\left(1+\frac{(1-p) \gamma}{(1-\rho) \mu}\right)\right. \\
\left.\left(\frac{1}{\eta}+\frac{1}{\xi}+\frac{p}{\lambda}\right)+\frac{\frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)}{1-\rho}\left(1+\frac{\gamma}{\eta}+\frac{\gamma p}{\lambda}\right)\right]^{-1} \tag{47}
\end{array}
$$

where
$\rho=\frac{(\lambda+\mu+\gamma)-\sqrt{(\mu-\lambda+\gamma)^{2}+4 \lambda \gamma}}{2 \mu}$

## 5 Steady-state Performance Measures

Mean and Variance of the number of customers in the system:
Let $X$ be the number of customers in the steady-state condition and $\Pi(z)$ be its probability generating function. Then we obtain

$$
\begin{array}{r}
\Pi(z)=E\left(z^{X}\right)=p(D)+p(M)+p(0)+\sum_{n=1}^{\infty} p(n) \\
\Pi(z)=\left(\frac{1-\rho}{1-\rho z}\right)\left[\left\{\frac{\frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)}{\left[(1-\rho)+\frac{(1-\rho) \gamma}{\mu}\left(\frac{1}{\eta}+\frac{1}{\xi}+\frac{p}{\lambda}\right)\right]}\right.\right. \\
\left.\frac{\left[z+\left(\frac{1-\rho z}{1-\rho}\right)\left(\frac{\gamma}{\eta}+\frac{p \gamma}{\lambda}\right)\right]}{\left(\frac{1}{\eta}+\frac{1}{\xi}+\frac{p}{\lambda}\right)+\frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)\left(1+\frac{\gamma}{\eta}+\frac{p \gamma}{\lambda}\right)}\right\} \\
\left\{\frac{\left(\frac{1-\rho z}{1-\rho}\right)}{\left[(1-\rho)+\frac{(1-\rho) z}{\mu}\right]}\right. \\
\left.\left.\frac{\left[(1-\rho)+\frac{(1-\rho) \gamma}{\mu}\left(\frac{1}{\eta}+\frac{1}{\xi}+\frac{p}{\lambda}\right)\right]}{\left(\frac{1}{\eta}+\frac{p}{\lambda}\right)+\frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)\left(1+\frac{\gamma}{\eta}+\frac{p \gamma}{\lambda}\right)}\right\}\right]
\end{array}
$$

Differentiating (41) with respect to $z$ and substituting $z=$
1 , we get
$E(X)=\frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)\left[\left(1+\frac{(1-p) \gamma}{(1-\rho) \mu}\right)\left(\frac{1}{\eta}+\frac{1}{\xi}+\frac{p}{\lambda}\right)+\right.$

$$
\left.\frac{\frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)}{1-\rho}\left(1+\frac{\gamma}{\eta}+\frac{\gamma p}{\lambda}\right)\right]^{-1}
$$

To find $E\left(X^{2}\right)=E[X(X-1)]-E(X)$, Diff $\Pi(z)$ twice with respect to $z$,

$$
\begin{array}{r}
E\left(X^{2}\right)=\left[\frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)\left(\frac{1+\rho}{(1-\rho)^{2}}\right)\right] \\
{\left[\left(1+\frac{(1-p) \gamma}{(1-\rho) \mu}\right)\left(\frac{1}{\eta}+\frac{1}{\xi}+\frac{p}{\lambda}\right)+\right.} \\
\left.\frac{\frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)}{1-\rho}\left(1+\frac{\gamma}{\eta}+\frac{\gamma p}{\lambda}\right)\right]^{-1}
\end{array}
$$

Variance of $X$ as $E\left[X^{2}\right]-[E(X)]^{2}$
$V(X)=\frac{\frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)\left(\frac{1+\rho}{(1-\rho)^{2}}\right)}{\left(1+\frac{(1-p) \gamma}{(1-\rho) \mu}\right)\left(\frac{1}{\eta}+\frac{1}{\xi}+\frac{p}{\lambda}\right)+\frac{\frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)}{1-\rho}\left(1+\frac{\gamma}{\eta}+\frac{\gamma p}{\lambda}\right)}$

$$
-\left\{\frac{\frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)}{\left(1+\frac{(1-p) \gamma}{(1-\rho) \mu}\right)\left(\frac{1}{\eta}+\frac{1}{\xi}+\frac{p}{\lambda}\right)+\frac{\frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)}{1-\rho}\left(1+\frac{\gamma}{\eta}+\frac{\gamma p}{\lambda}\right)}\right\}^{2}
$$

## 6 System throughput

The system throughput $U$, the rate at which customers exit the queue, there are one or more customers in the system, with the exit rate $\mu$

$$
U=[1-p(0)-p(D)-p(M)] \mu
$$

Using equations (37), (38) and (39), we get

$$
\begin{array}{r}
U=\frac{\lambda}{1-\rho}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)\left[\left(1+\frac{(1-p) \gamma}{(1-\rho) \mu}\right)\left(\frac{1}{\eta}+\frac{1}{\xi}+\frac{p}{\lambda}\right)+\right. \\
\left.\frac{\frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)}{1-\rho}\left(1+\frac{\gamma}{\eta}+\frac{\gamma p}{\lambda}\right)\right]^{-1}
\end{array}
$$

The effective arrival rate $\lambda_{\text {eff }}$ (the total arrival rate when the server is available) is defined as,

$$
\begin{aligned}
& \lambda_{e f f}=[1-p(M)] \lambda \\
& \lambda_{e f f}=\lambda\left[\left(1+\frac{(1-p) \gamma}{(1-\rho) \mu}\right)\left(\frac{1}{\xi}+\frac{p}{\lambda}\right) \frac{\frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)}{1-\rho}\right. \\
& \left.\left(1+\frac{p \gamma}{\lambda}\right)\right]\left[\left(1+\frac{(1-p) \gamma}{(1-\rho) \mu}\right)\left(\frac{1}{\eta}+\frac{1}{\xi}+\frac{p}{\lambda}\right)+\right. \\
& \left.\frac{\frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)}{1-\rho}\left(1+\frac{\gamma}{\eta}+\frac{\gamma p}{\lambda}\right)\right]
\end{aligned}
$$

There are several general descriptions of our queuing system,
Under Steady state,
$P($ serverisbusy $)=\sum_{n=1}^{\infty} p(n)=p(1)+\sum_{n=2}^{\infty} p(n)=\frac{p(1)}{1-\rho}$

$$
\begin{array}{r}
=\left[\frac{1}{1-\rho} \frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)\right]\left[\left(1+\frac{(1-p) \gamma}{(1-\rho) \mu}\right)\right. \\
\left.\left(\frac{1}{\eta}+\frac{1}{\xi}+\frac{p}{\lambda}\right)+\frac{\frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)}{1-\rho}\left(1+\frac{\gamma}{\eta}+\frac{\gamma p}{\lambda}\right)\right]^{-1}
\end{array}
$$

$P($ serverisavailable $)=1-p(M)$

$$
\begin{array}{r}
=\left[\left(1+\frac{(1-p) \gamma}{(1-\rho) \mu}\right)\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)+\frac{\frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)}{1-\rho}\right. \\
\left.\left(1+\frac{\gamma p}{\lambda}\right)\right]\left[\left(1+\frac{(1-p) \gamma}{(1-\rho) \mu}\right)\left(\frac{1}{\eta}+\frac{1}{\xi}+\frac{p}{\lambda}\right)+\right. \\
\left.\frac{\frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)}{1-\rho}\left(1+\frac{\gamma}{\eta}+\frac{\gamma p}{\lambda}\right)\right]^{-1}
\end{array}
$$

$P$ (customer is served immediately upon arrival $)=p(0)+p(D)$

$$
\begin{array}{r}
=\left[\left(1+\frac{(1-p) \gamma}{(1-\rho) \mu}\right)\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)+\frac{\frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)}{1-\rho}\right. \\
\left.\frac{\gamma p}{\lambda}\right]\left[\left(1+\frac{(1-p) \gamma}{(1-\rho) \mu}\right)\left(\frac{1}{\eta}+\frac{1}{\xi}+\frac{p}{\lambda}\right)+\right. \\
\left.\frac{\frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)}{1-\rho}\left(1+\frac{\gamma}{\eta}+\frac{\gamma p}{\lambda}\right)\right]^{-1}
\end{array}
$$

$P_{W}=P[$ an arriving customers has to wait for service $]=1-$ $[p(0)+p(D)]$

$$
\begin{array}{r}
=\left[\left(1+\frac{(1-p) \gamma}{(1-\rho) \mu}\right) \frac{1}{\eta}+\frac{\frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)}{1-\rho}\right. \\
\left.\left(1+\frac{\gamma}{\lambda}\right)\right]\left[\left(1+\frac{(1-p) \gamma}{(1-\rho) \mu}\right)\left(\frac{1}{\eta}+\frac{1}{\xi}+\frac{p}{\lambda}\right)+\right. \\
\left.\frac{\frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)}{1-\rho}\left(1+\frac{\gamma}{\eta}+\frac{\gamma p}{\lambda}\right)\right]^{-1}
\end{array}
$$

The probability of atleast $k$ or more customers in the system is given as,

$$
\begin{aligned}
P(X \geq k)=\sum_{n=1}^{\infty} p(n) & =\sum_{n=1}^{\infty} \rho^{n-1} p(1) \\
& =\left(\frac{\rho^{k-1}}{1-\rho}\right) p(1)
\end{aligned}
$$

$$
\begin{array}{r}
P(X \geq k)=\left[\left(\frac{\rho^{k-1}}{1-\rho}\right) \frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)\right] \\
{\left[\left(1+\frac{(1-p) \gamma}{(1-\rho) \mu}\right)\left(\frac{1}{\eta}+\frac{1}{\xi}+\frac{p}{\lambda}\right)+\right.} \\
\left.\frac{\frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)}{1-\rho}\left(1+\frac{\gamma}{\eta}+\frac{\gamma p}{\lambda}\right)\right]^{-1}
\end{array}
$$

$P($ server is busy $/$ server is available $)=\frac{\sum_{n=1}^{\infty} p(n)}{1-p(M)}$

$$
\begin{array}{r}
=\frac{\frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)}{1-\rho}\left[\left(1+\frac{(1-p) \gamma}{(1-\rho) \mu}\right)\right. \\
\left.\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)+\frac{\frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)}{1-\rho}\left(1+\frac{\gamma p}{\lambda}\right)\right]^{-1}
\end{array}
$$

$P($ server is idle/server is available $)=\frac{p(0)+p(D)}{1-p(M)}$

$$
\begin{array}{r}
=\left[\left(1+\frac{(1-p) \gamma}{(1-\rho) \mu}\right) \frac{1}{\eta}+\frac{\frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)}{1-\rho}\right. \\
\left.\left(1+\frac{\gamma}{\lambda}\right)\right]\left[\left(1+\frac{(1-p) \gamma}{(1-\rho) \mu}\right)\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)+\right. \\
\left.\frac{\frac{\lambda}{\mu}\left(\frac{1}{\xi}+\frac{p}{\lambda}\right)}{1-\rho}\left(1+\frac{\gamma p}{\lambda}\right)\right]^{-1}
\end{array}
$$

## 7 Numerical Illustrations

We study the effects of the various parameters on the following steady state probabilities: $p(0)$-the server in idle mode, $\mathrm{p}(\mathrm{M})$-maintenance mode and $\mathrm{p}(\mathrm{D})$-sleep mode; the system throughput U , and the average number of customers $\mathrm{E}(\mathrm{X})$ in the system. The parameters are so chosen that they satisfy the condition that $\lambda<\mu, \xi>0, \eta>0$ and $\gamma>0$


Fig. $2 p(0)$-for fixed value of $\xi=2$


Fig. $3 p(0)$-for fixed value of $\eta=4$


Fig. $4 U$-for fixed value of $\xi=2$


Fig. $5 U$-for fixed value of $\eta=4$

Figure 2 shows that $p(0)$ is a decreasing function of $\eta$, while Figure 3 shows that $p(0)$ is an increasing function of $\xi$ and in both the cases $\mathrm{p}(0)$ is a decreasing function of $\rho$.

Figures 4 and 5 reveal that the system throughput $U$ decreases slowly for increasing values of $\eta$ and $\xi$ while decreasing for increasing values of $\rho$.


Fig. $6 p(M)$-for fixed value of $\xi=2$

From figures 6 and 7 we see that $p(M)$ is a decreasing function of $\eta$ and $\xi$ and is an increasing function of $\rho$.

In figures 8 and 9 , we see that the close down probability $p(D)$ is an increasing function of $\eta$, is a


Fig. $7 p(M)$-for fixed value of $\eta=4$


Fig. $8 p(D)$-for fixed value of $\xi=2$


Fig. $9 p(D)$-for fixed value of $\eta=4$
gradually decreasing function of $\rho ; p(D)$ is a sharply decreasing function of $\xi$. Figures 10 and 11 show that,


Fig. $10 E(X)$-for fixed value of $\xi=2$
$E(X)$ is a decreasing function of $\eta$ and $\xi$ for fixed values of $\rho$.

## 8 Conclusion

We have studied a M/M/1 system with server operating in three modes subject to catastrophes. Explicit


Fig. $11 E(X)$-for fixed value of $\eta=4$
expressions for the transient probabilities of the system in the three different modes are obtained. Further Mean time spent in sleep and maintenance mode have been derived. The steady state probabilities and performance measures such as mean of the system size, availability of the server, system throughput and mean waiting time of an arbitrary customer in the system have been obtained. Finally, graphical illustrations have been presented and the effects of various parameters on the system performance measures are studied.

## References

[1] D. Bertsekas, D. Gallager, Data Networks, Englewood Cliffs: Prentice Hall, 1987.
[2] H. Takagi, Queueing Analysis: A Foundation of Performance Evaluation, Vol. I: Vacation and Priority Systems: Part I, Amsterdam, North-Holland Publishing co, 1991.
[3] J. N. Daigle, Queueing Theory for Telecommunications, Boston, MA: Addision-Wesley, 1992.
[4] E. Gelenbe, G. Pujolle, Introduction to Queueing Networks, Chichester: Wiley, 1998.
[5] Wah Chun Chan, Performance Analysis of Telecommunications and Local area networks, New York. Kluwar Academic Publishers, 2000.
[6] J. F. Hayes, T. V. J. Ganesh Babu, Modeling and Analysis of Telecommunication Networks, John Wiley and Sons, 2004.
[7] G. Giambene, Queueing Theory and Telecommunications, Networks and Applications. New Delhi: Springer, 2005.
[8] J. Seo, S. Lee, N. Park, H. Lee, C. Cho, Performance Analysis of Sleep Mode Operation in IEEE 802.16e, In IEEE VTC 2004-Fall 2, 1169-1173 (2004).
[9] Y. Xiao, Energy Saving Mechanism in the IEEE 802.16e Wireless MAN, IEEE Communication Letters 9(7), 595-597 (2005).
[10] Y. Zhang, M. Fujise, Energy Management in the IEEE 802.16e MAC, IEEE Communication Letters, 3207-3211 (2007).
[11] G. Dong, C. Zheng, H. Zhang, J. Dai, Power Saving Class I Sleep Mode in IEEE 802.16e System, Advanced Communication Technology 3, 1487-1491 (2007).
[12] Y. Zhang, Performance Modeling of Energy Management Mechanism in IEEE 802.16e Mobile WiMAX, In WCNC 2007, 3207-3211 (2007).
[13] H. Lei, A. A. Nilsson, Queueing Analysis of Power Management in the IEEE 802.11 Based Wireless LANs, IEEE Transactions on Wireless Communications 6(4), 12861294 (2007).
[14] K. D. Turek, S. De Vuyst, D. Fiems, S. Wittevronged, Performance Analysis of the IEEE 802.16eSleep Mode for Correlated Downlink Traffic, Telecommunication Systems 39, 145-156 (2008).
[15] E. Hwang, Y. Hyun, K. J. Kin, J. J. Son, B. D. Choi, Performance Analysis of Power Saving Mechanism employing Both Sleep Mode and Idle Mode in IEEE 802.16e, IEICE Transactions on Communications E92-B, 2809-2822 (2009).
[16] E. Hwang, K. J. Kin, J. J. Son, B. D. Choi, The Power Saving Mechanism With Periodic Traffic Indications in the IEEE 802.16e/m, IEEE Transactions on Vehicular Technology 59, 319-334 (2010).
[17] S. Baek, J. J. Son, B. D. Choi, Performance Analysis of Push ?To-Talk over IEEE 802.16e with Sleep Mode and Ideal Mode, Telecommunication Systems 47, 291-302 (2011).
[18] Z. Huo, S. Jin, Z. Wang, Performance Analysis and Evaluation for Sleep- Mode With Uplink/downlink Traffic in IEEE 802.16e Network, Journals of Networks 6(8), 11451152 (2011).
[19] K. Han, S. Choi, Performance Analysis of Sleep Mode Operation in IEEE 802.16e Mobile Broadband Wireless Access Systems, In Proceedings IEEE VTC 2006-Springer 3, 1141-1145 (2006).
[20] M. G. Kim, J. Y. Choi, M. Kang, Trade-off Guidelines for Power Management Mechanism in the IEEE 802.16e MAC, Computer Communication 25, 2063-2070 (2008).
[21] Y. H. Han, S. G. Min, D. Jeang, Performance comparison of Sleep Mode Operation in IEEE 802.16e Terminals, In Lecture Notes in Computer Science 4490, 441-448 (2007).
[22] S. Baek, B. D. Choi, Performance of an Efficient sleep Mode Operation for IEEE 802.16 m , Journal of Industrial and Management Optimization 7(3), 623-639 (2011).
[23] B. Krishna Kumar, S. Anbarasu, S. R. Anantha Lakshmi, Performance Analysis for Queueing Systms with Close down period and Server under Maintenance, International Journal of Systems Science 46(1), 88-110 (2013).
[24] S. Udayabaskaran, C. T. Dora Praveena, Transient Analysis of an M/M/1 Queueing System with server operating in three modes, Far East Journal of Mathematical Sciences 101, 1395?1418 (2017).
[25] C. Dabrowski, Catastrophic Event Phenomena in Communication Networks, A Survey, Computer Science Review 18, 10-45 (2015).
[26] R. Pastor-Satorras, A. Vespignani, Epidemic dynamics and endemic states in complex networks, Physical Review E 6, 066117-1-066117-8 (2001).
[27] Y. Moreno, R. Pastor-Satorras, A. Vespignani, Epidemic outbreaks in complex heterogeneous networks, European Physical Journal B 26, 521 ?529 (2002).
[28] C. Zou, D. Towsley, W. Gong, Modeling and Simulation Study of the Propagation and Defense of Internet Email Worm, IEEE Transactions o.n Dependable and Secure Computing 4(2), 105 ? 118 (2007).
[29] A. Motter, Y. Lai, Cascade-based attacks on complex networks, Physical Review E 66, 065102-1-065102-4 (2002).
[30] Y. Moreno, J. Gomez, A. Pacheco, Instability of scalefree networks under node-breaking avalanches, Europhysics Letters 46(1),58(4), 630 ?636 (2002).
[31] D. Watts, A simple model of global cascades on random networks, Proceedings of the National Academy of Sciences of the United States of America 99(9), $5766 ? 5771$ (2002).
[32] L. Zhao, K. Park, Y. Lai, Attack vulnerability of scale-free networks due to cascading breakdown, Physical Review E 70, 035101-1?035101-4 (2004).
[33] E. Lee, K. Goh, B. Kahng, D. Gim, Robustness of the avalanche dynamics in data packet transport on scale-free networks, Physical Review E 71, 056108-1-056108-4 (2005).
[34] R. Sole, S. Valverde, Information transfer and phase transitions in a model of internet traffic, Physica A Statistical Mechanics and its Applications 289, 595?605 (2001).
[35] D. Arrowsmith, R. Mondragon, J. Pitts, M. Woolf, Phase Transitions in Packet Traffic on Regular Networks a comparison of source types and topologies, Report 08, Institut Mittag-Leffler, 2004.
[36] P. J. Ehentique, . Gomez-Gardenes, Y. Moreno, Dynamics of jamming transitions in complex networks, Dynamics of jamming transitions in complex networks 71(2), 056105-1? 056105-4 (2005).
[37] G. Mukherjee, S. Manna, Phase transition in a directed traffic flow network, Physical Review E 71, 066108-1-066108-6 (2005).
[38] B. Thilaka, B. Poorani, S. Udayabaskaran, Performance Analysis for queueing systems with closedown periods subject to catastrophe, International Journals of Pure and Applied Mathematics 119(7), 39-57 (2018).
[39] G. N. Watson, A Treatise on the Theory of Bessel Functions, Cambridge, Cambridge University Press, 1962.
[40] Abramowitz, M. Stegun, Handbook of Mathematical Functions, New York: Dover Publications, 1972.

B. Thilaka received her Masters degree in Mathematics from the University of Madras, pre-doctoral degree in commutative algebra from Pondicherry University and earned her Doctoral degree in stochastic processes from Anna University, Madras. Her area of interest includes stochastic models in Biological systems and Human Resource management, image processing, pattern recognition and cryptography. She is a contributory author for the fourth edition of the book Probability, Statistics and Random Processes for Engineers, Pearson International. She has published research articles in reputed international journals of mathematical and sciences. Currently, she is a Professor at the Applied Mathematics Department of Sri Venkateswara College of Engineering, Sriperumbudur, Chennai, India.

B. Poorani is Assistant Professor at KCG College of Technology, and is presently pursuing research studies on stochastic models in Wireless Sensor Networks. She has published paper in International Journal of Pure and Applied Mathematics.

S. Udayabaskaran Swaminathan Udayabaskaran received his MSc and PhD from Indian Institute of Technology,Madras, Chennai, India. He is at present working as Professor of Mathematics in Vel Tech Rangarajan Dr. Sagunthala R\&D Institute of Science and Technology, Avadi, Chennai, India. Earlier he worked as Reader in Mathematics at Presidency College, Chennai 600005, Tamilnadu, India. His research interest includes stochastic analysis of queueing systems, inventory systems and biological systems.


[^0]:    * Corresponding author e-mail: bthilaka@svce.ac.in

